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• In perfect squares, the powers of primes 

are divisible by 2. 

• In perfect cubes, the powers of primes 

are divisible by 3. 



If 𝟓𝟔 × 𝟕𝟓 × 𝟔𝟎 × 𝟖𝟒 × 𝟐𝟏𝟎 = 𝟐𝒑 × 𝟑𝒒 × 𝟓𝒓 × 𝟕𝒔 

then what is the value of
𝒑+𝒒

𝒔
+ 𝒓 ? 

यदि 𝟓𝟔 × 𝟕𝟓 × 𝟔𝟎 × 𝟖𝟒 × 𝟐𝟏𝟎 = 𝟐𝒑 × 𝟑𝒒 × 𝟓𝒓 ×

𝟕𝒔 तो 𝒑+𝒒

𝒔
+ 𝒓 का मान क्या है?

a) 6 b) 8 c) 12 d) 10
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SSC CGL 18 Feb 2018 T2 NS (factorisation) b



If 𝟏𝟖 𝒌 is exactly divisible by 𝟑𝟐𝟗, what is the 
smallest possible integer for k?
अगर 𝟏𝟖 𝒌 , 𝟑𝟐𝟗 से परूी तरह विभाजित हो
िाता है तो k का सबसे छोटा मान क्या होगा ?
a) 14  b) 15  c) 29  d)30

5NS (factorisation) b



What is the least value of n such that 𝟏𝟎𝒏 is 
exactly divisible by 1600?
‘n’ का नयनूतम मलू्य ज्ञात करे अगर 𝟏𝟎𝒏 ,
1600 से परूी तरह विभाजित हो िाता है|
a) 6  b) 5  c) 4  d) 3

6NS (factorisation) a



If p and q are positive integers such that 
𝟏𝟖𝒑  and 𝟏𝟐𝒒   are divisible by 108, the 
minimum value of 𝒑𝒒 is:
अगर p ि q िोनों धनात्मक परू्ाांक है ि 𝟏𝟖𝒑 
and 𝟏𝟐𝒒 , 108 से विभाजित हो िाते है तो
𝒑𝒒 का नयनूतम मान ज्ञात करे?
a) 10  b) 8  c) 9  d) 6

7NS (factorisation) d



If 𝟑𝟔 𝟐𝒏  is divisible by 𝟐𝟖𝟏, where n is an 
integer, what is the least possible value of n?
अगर 𝟑𝟔 𝟐𝒏 , 𝟐𝟖𝟏 से विभाजित हो िाता है,
िहा n एक परू्ाांक है, n की नयनूतम संभि
मान ज्ञात करे?
a) 19  b) 20  c) 21  d) 40

8NS (factorisation) c



Find the smallest number which gives a 
perfect square when multiplied by 392.
सबसे छोटी संख्या ज्ञात कीजिये जिसे 392
से गुर्ा करने पर परू्ण िगण प्राप्त हो।
a) 7  b) 2  c)4      d) 14

9NS (factorisation) b



By what smallest no. should we divide 2800 
to make it a perfect square?
िह सबसे छोटी संख्या कौन सी है, जिससे
2800 को भाग िेने पर परू्ण िगण प्राप्त हो?
a) 2  b) 4  c)7                    d) 9

10NS (factorisation) c



By which smallest number 1323 must be 
multiplied, so that it becomes a perfect 
cube?
िह सबसे छोटी संख्या कौन सी है, जिससे
1323 को गुर्ा करने पर परू्ण घन प्राप्त हो?
a) 9  b) 3   c)21  d) 7

11NS (factorisation) d



The smallest natural number by which 5145 
must be divided to make the quotient a 
perfect cube is
िह सबसे छोटी प्राकृततक संख्या कौन सी है,
िीससे 5145 को भाग िेने पर भागफल एक
परू्ण घन हो?
a) 15  b) 3  c)5  d) 7

12NS (factorisation) a 



Find the smallest four digit perfect square 
which is divisible by 44?
44 से विभाजित हो िाने िाला चार अंकों का
सबसे छोटा परू्ण िगण ज्ञात करें ।
a) 484  b) 1452 c) 1936 d) 4356

13NS (factorisation) c



How many four digit perfect squares are 
multiples of 72?
72 के ककतने गुर्ि चार अंकों के परू्ण िगण हैं ?
a) 6  b) 7  c) 8  d) 9

14NS (factorisation) a



‘𝑵’ is an even number such that 𝟑𝑵  is a 
perfect cube. What is the smallest possible 
value of N?
𝑵  एक सम संख्या इस प्रकार है कक 𝟑𝑵  परू्ण
घर् है । 𝑵 का न्यनूतम संभि मान ज्ञात करें ।
a) 36  b) 48  c) 60  d) 72

15NS (factorisation) d
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How many perfect cubes are there between 
1 and 100000 which are divisible by 7?
1 से 100000 के बीच ककतने परू्ण घन हैं िो
7 से विभाजित है?
a) 5  b) 6  c) 7  d) 15

SSC CGL 2017 T-2NS (factorisation) b



𝟒𝟔𝟏 + 𝟒𝟔𝟐 + 𝟒𝟔𝟑 + 𝟒𝟔𝟒 is divisible by
𝟒𝟔𝟏 + 𝟒𝟔𝟐 + 𝟒𝟔𝟑 + 𝟒𝟔𝟒 ककससे विभाजित है?
a) 3  b) 10  c) 11   d) 13

17NS (Factorisation) b



𝟓𝟕𝟏 + 𝟓𝟕𝟐 + 𝟓𝟕𝟑 is divisible by 
𝟓𝟕𝟏 + 𝟓𝟕𝟐 + 𝟓𝟕𝟑 ककससे विभाजित है?
a) 150  b) 160 c) 155  d) 30

18NS (Factorisation) c



𝟓𝟕𝟏 + 𝟓𝟕𝟐 + 𝟓𝟕𝟑 + 𝟓𝟕𝟒 + 𝟓𝟕𝟓 is divisible by 
which of the following number?
𝟓𝟕𝟏 + 𝟓𝟕𝟐 + 𝟓𝟕𝟑 + 𝟓𝟕𝟒 + 𝟓𝟕𝟓 दिए गए
विकल्पों में से ककस संख्या से विभा्य है?
a) 𝟕𝟏  b) 𝟔𝟗  c) 𝟖𝟗  d) 𝟕𝟑

SSC CGL T2, 03 Feb 2022
19NS (Factorisation) a



𝟐𝟏𝟐𝟐 + 𝟒𝟔𝟐 + 𝟖𝟒𝟐 + 𝟒𝟔𝟒 + 𝟐𝟏𝟑𝟎 is not divisible 

by which one of the following integers?

𝟐𝟏𝟐𝟐 + 𝟒𝟔𝟐 + 𝟖𝟒𝟐 + 𝟒𝟔𝟒 + 𝟐𝟏𝟑𝟎 तनम्नललखित
में से ककस परू्ाणक से विभा्य नहीं है?
a) 11  b) 62  c) 22  d) 93

20
CDS 2016, Paper 2*NS (factorisation) d



Which one of the following is the largest 
divisor of 𝟑𝒙 + 𝟑𝒙+𝟏 + 𝟑𝒙+𝟐 , if 𝒙  is any 
natural number?
यदि 𝒙 कोई धन परू्ाांक तनम्नललखित में से
कौन सा एक, 𝟑𝒙 + 𝟑𝒙+𝟏 + 𝟑𝒙+𝟐 का सबसे बडा
भािक है ?
a) 𝟑  b) 𝟏𝟑  c) 𝟑𝟗  d) 𝟏𝟏𝟕

21CDS 2 Feb 2020NS (factorisation) c



If the sum of five consecutive positive odd 
numbers is a perfect square, which of the 
following can not be one of the numbers?
अगर पााँच लगातार धनात्मक विषम संख्याओं
का िोडफल एक परू्ण िगण है, तो तनम्न में से
कौन सी संख्या उन संख्याओं में से एक संख्या
नहीं हो सकती है ?
a) 7  b) 51  c) 43  d) 127

22NS (factorisation) b
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If 𝒃 is largest square divisor of 𝒄 and 𝒂𝟐 
divides 𝒄, then which one of the following is 
correct (where 𝒂, 𝒃 𝒂𝒏𝒅 𝒄 are integers)?
यदि 𝒄 के िहृ्तम िगण भािक 𝒃 है और 𝒄
को 𝒂𝟐  विभाजित करता है, तो तनम्नललखित
में से कौन सा एक सही है? (𝒂, 𝒃 , 𝒄  परू्ण
संख्याएं है)
a) 𝒃 divides 𝒂 b) 𝒂 does not divide 𝒃 
c) 𝒂 divides 𝒃 d) 𝒂 and 𝒃 are coprime

CDS 2013, PAPER 2NS (factorisation) c
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The number of (a, b, c), where a, b, c are 
positive integers such that 𝒂𝒃𝒄 = 𝟑𝟎, is 
(a, b, c) की संख्या ककतनी है, िहााँ a, b, c
घनात्मक परू्ाांक हैं, इस प्रकार कक 𝒂𝒃𝒄 = 𝟑𝟎 ?
a) 𝟑𝟎  b) 𝟐𝟕  c) 𝟗  d) 𝟖

CDS, 2020, PAPER 2NS (factorisation) b
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